disputants-2°p91m ¢ | statement-8a2 Ll
central point for summary and review-771m 212%0% nooa2 7P O | challenge-8owp ¢
insertion of an earlier segment-n»7ip 7PED YW AN < question-7oRw A
story-nwynO answer-yyn !
key-Napn: proof-7°81 m
TPONN-RYOEA X2 Talmud Navigator
hlakial ANART IRNA 5°VAT1ITAT A2 R
= DOWILN .RODAT RNYPOR ~ ANWLN MuAwn Nyawm (3" Maw) 2°037 ,11072 HyaT own , o
Wen 2032 5V ax (P ywIm) 2°n97 10V TnT : s
.D°IRD OnY PR 09 XN = O o
MR A 07
MWK RPN ! R
YN NAWRT ORA M 1OWN P ROWA o kY]
DOWIVIR KOR ! Roy)
NP 17 TR PROXM R o KH)
DOWIVIR R7R ! [ Roy)
Uatiay) A R
11279 RPN ! R
TR IMR PROXIN MR KT [pan] (e ™ KH)
DRO9M3 12 YRR 127K ! O R
MWD DWW NIV IR R ;™ 0 R
12°K1,79W1 TPIT AN IR T PV R 170 IMR PRI PRT T PNAWI LAY R, PIAWD , o b
RelatelibR ealivE eh] : ’
JINT XD RIW ORI o KH)
LSRN ROXIW 77 7 7307 DIRY RYP LRYMP 9IR) 71277 RO, INWR 031 9V MIRYT XXM [an] .. b
DIK PIRW ¢ ’
IR ROR X7 R R ! 0 Ryl
27T MR 9021 HY RIXIMD T 7I0P MWK 051 9 MRTT XXM [:XTON 27 0K 2" MRT -y o RH)
AA2°T08% K97 99°7 %9 ,7330 70 PN T MNYT RIND KT 110 (KRR - O R
277097 K97 9377 99 1327 777 19PN 01 R ! R
.0°IRD 4R PAY TN - Ol<| v
PRI IR 1790 A 07
ORMW IR AN 27 INRT KT INR? ! 0 R
L0217 2P PR PR T AYT? KXY, 10212 21 PO T Awaw Maw | [PRmw mR praan]| (e o RH)
21awD R T M2 SPTTmam| =y 0 R
PRD NN 12 A Ry)
R31D NAn RVR ! 07
nyT W é 02
.P7IR Manm 1A ROR ! O R
PODI? PTI PT NP2 T PI0AY OO ,MTA? 00N, XA 002, MRPY AR M3 7w Maw -
HRMY MR T 20 o Ro)
0017 AP 1T T2 MR LPOIA AN XY IR ,0IDIIOR PR
D9WH RDIWIOR DN o R
BRI XD 211779 ROVIDX ! [ R
0P P PR TP 20217 21 NANM 217P XY ,10P 20912 0P K91 1AW 20230 1up PTIA PR
0219 2P KDY RPN MR 7 J0R 0212 2P Mann 210R K91 TR 1001 RaRT - 1w v0a1R AR 20 LI 07
.2 OPUNRY DR A X270 T j0p

Talmud Navigator 1 Ty 07 XY'¥N X1



Talmud Navigator

disputants-2°pim ¢
central point for summary and review-7m1m 21290% noronn 771 O
insertion of an earlier segment-n»7ip 7PED YW AN <
story-nwynO
key-xapn:

statement-xvaor W
challenge-x>wnp ¢
question-7oRw A
answer-y1°n !
proof-7°81 m

TPONA-RY¥N X212

Talmud Navigator

hlakial ANART IRNA 5°VAT1ITAT A2 R
DaR ,RIRT TR KPR JIAK ®DY = 97727 120K ,70P *0232 PR2ID PR X1 2770 77100 vaw T
RNYIRDY .72 12 107 = 9022 DaR ,ROVIRD XDX 192K R? 71 RIRT NXY .72 12 002~ ROKT 1R X2 LI 07
.12 PR R9P = RT0Y 772V DaR RTVY Iy X927 R2R 70K KD 01
T2 RIW RPN RIW KD KNOYIX RIW KD ,XORT MR KIY K9) RINT 1K RIW KD X070 KDY - o
PN R? 7 RTY TAY R? RIW KXY XT0Y ud
TR XTI RDOW RN NN TR ,XNT2 XTM PR RIANWOR ,XN12 12N 72 ROIT XN20 X7 00 .
PP AP ’
.JOP 902312 2P P PRI LRN20 R2OW RADT = RNART R7°2 20212 1072 27°2v1 °5°0 .- A o
12w 0317 1UP TN PRI LRNA0 ROW XY RAPT = XPIT RT°2 7°0217 171001 : '
RPIH RDVIDR 7 1P RAPD TTORY ,RAMRY 77 K127 R399 , 7997 AR MR - O oY)
LRA7D TTORD RDIIWIDXR 79 1101 = RA2D? RDITWIDXR 117007 1n X2 = O 07
.XN2D R2DWT WAw 70 o O o)
RPI7 TTRY,ROAKD XPIT 17277 RN2°N TR ,XPIPY 777 129370 RN .RAAKRY 72 127 XN9°N - - o o
RPIPY RDMLIOX 777 11°0pm0 : '
LRPIT JTORY RDWIDN 13 10PN = KPIT? ROMWIDR D°PINT 1) XY - o oY)
ORI 27 RAR 79 ROR POPK 720 00 b
9 2199 1 h MR ol 0 b
77 RWT XY 79 MR o 09
.RTOM 277 MpY ROX o Roy)
PRI XD KXW 797 7N KD O PAX DR A0 197 (2" MWRA2) MR , T2 INRP 1OW - .
[X70m 27]:7°% N O 07
JJPT Nnn2 XA TpT
DX TIART 770 2NMR 9T Y MR [R7017 27]:7°% MR o] O 09
LRI RIR RI2NT 10 90T ,0TA0 00 DK Y INR o O 0o
LRI IR IRDT 270 NVR NI T TTY 0 MN [x70m 27] o] O 09
PRI POV 10 XXM PO R1T 1Y IR o b
.77anT M9R 9391 77 R1IT 007 [X70m 27]:7°% MR o] O 09
27707 K1 7770 R 10 A0 1770 MR o 07
272Y XY °nAn [R7017 29]:7°% MR o] 09
X177 MART 7770 IR 7109 o O b
ONWT 210121 20779 1 %9 199D 1Y MR o O b
T2 nRp VoW [R701 27]:% MR = O 07
YXARY WAV - 0°0037 DR DPNTA AWM ,0%0p1 20T 0033 137 N7 ol 0 oY)

2 Tiny

07 KY'¥N N2



